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Date of exam/ oi¥&m faf@: 17.02.2019 Time/AAHATET:2 hours/E [1030 hrs/ast to/F 1230 hrs/g3i]

Please write your roll no. 93T H9aT 3w fod

(Please read the instructions carefully. FoaT it #r Careqde %)
1. Immediately upon receipt of question paper, please ensure that it has all 14 pages, if not
please bring it to the notice of invigilator. s 95 fieet U7 I8 gafaa &1 o & st
T 14 I55 T, 000 F B R R a7 e ' gfag ¢
2. Serial number mentioned at top right hand corner of this page is to be entered in the
space provided in the OMR sheet. 38 I5¢ & FUT afger F1Y 9T far@ FH7% FY INTHNT
g # Afdse Fam Wi at | '

3. The written examination contains 100 objective type multiple choice questions. faf@d

qlter # 100 awgferss g ¥ |

4. Each question is followed by 4 options, {a),(b).(c) and (d). Only one option is the correct
answer which should be marked by blue ball pen only on the OMR sheet provided

separately. &Y 9 & IR fawed (a), (b), (c) @ (d) ¥ | 3 & A% v RaveT & T8 3eaw
¥ TRy 3Maam gieesT & e 4o & are S A @ el ¥ |

5. There is negative marking of % mark for each wrong answer. Yed& ITdd 3cal & e %
3R ST ST |

6. The questions and answers have been printed in English and Hindi. In case of any
discrepancy, the English version shall prevail. 925 et 31 3 Redr F Ry 10 ¥
Tl yehre < Ry @1 ox 3farh Riavor & ameg Yo

7. Hindi version of questions on English language & certain numerical have not been given,
IS ST 3 ot & o5 WEAHS T 1 Ry FROT TE R T ¥ |

8. Change of answers in the OMR sheet by using correction fiuid or rubbing or erasing or
smudging is not permitted. 3TANR IFEa#T & Icax evoul #r THET 9T T a7 AeT F7
T T3 F e = aford &l

9. Use of mobile phones, blue-tooth or any other communication device or any other
electronic gadgets like calculators, etc or any other material inside the examination

room, even if switched off, is strictly prohibited. TE1&T &eT # AraTze B, &Y 3R I
ﬁmmmsﬁa@mw#mmmmﬂﬁdﬁﬁmmaﬁﬂ
gl

10. Rough work may be done on the space provided on the last page of this booklet & not

on the OMR sheet. mﬂwﬁr%mwwam@mwﬁ. AN
qfeaaT oT 78T |

11. Candidates can take the question paper after the exam. I8 ¥ 39T 3reeff goaray
FATTIFTE |
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[QNo. [Queston T LG IR a
LAns. B Peo b | el d
‘T What are the Highest Common Factor and Lowest Common Multiple of 6, 72, 1207 / |
6, 72, 'zammmmmwﬁwﬂ_
12. 180 |6, 360) | 360, 6 ~ [12,360 ol
2 - If a quadratic polynomial y = ax*+bx+c intersects x axis at a and (3, then / |
uﬁwqﬁaraﬁuagqay=ax3+bx+cﬁ;mgﬂxaa‘raaﬂvﬁq"{mm%a‘r =
a+B=-b/a a+B=a/b axB=alc o/f=1 |
@+ B=-b/a) [a+p [axp f
3 fin two linear equations ax + by =cand dx + ey = fand a/d = b/e = c/f then, which |
=" tne following is true about the two equations? / 7 afavET wHIeRO ax+ by = ¢
FY cusey=fAHR a/d=bfe=cf}3¢—a*ﬂ=ﬁ-m§\aa MARH AT T ag 2
Tn=, r=zrssent intersectin -' hey represent | Have a unique | None of
"Es T FEEwere W@nst( | coincident lines, /& solution. / ws ‘ these / z&H
= s ¥ FO Y@t # R 3/ R g 3 | § P15 78 !

® TR T et equations 2 +X—528=0is -/ el wefEoT 2% +x-528=0 &7 7T &
= oZ Both a&b/adR baA | Noneofthese / st @ #E ot |

5 Sz - _ e_-?;_e:from 1t0100is: / w8fr g=ems EE 1 & 100 F7 gty ¢
\ s8] [ 10800 [ 2400
— & 2 &8

6 If arez 2 s~ z s"-_:es__iE:andADEFbeﬁ-dsqcmand 121 sqgcmand EF =
‘ 154 em & =2C ~neue ﬁmﬁﬂmaAchaDEFﬂﬂmmaﬁmﬁ,aﬁr
’ M=t FF-154n t Aecaum b

8cm /8 == Eom 2 [(12emDi12 @h | 820m /82 W
e — —

T Arga oF S WS wsraces at (2, 3), (-1, 0) and (2. 4)is '/
RS S ML 3 (10 (2.-4) & 3mer Avwak
—— 2 —— Exie i e o == =
212 e= 21 sq units vone of these
21 = T — 21 55 o= Err e e |
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9 The angle of elevation of the top of a tower from a point on ground which is 30 mtrs.
away from the foot of the tower is 30°. Height of the tower is ;/ w& feg, o #AER & =

R & 30 Aex gy U B, ¥ A9 F o F7 3ewrmar #ror 30° ¥ | R & I

(10 /N3 mtrs. 7D | 10 X V3 mtrs./ 100 mtrs./ 20 mtrs./
[ 10 /v3 [ 10 Xv3 #Aw 100 #HX 20 A

10 The length of a tangent from a point A at a distance 5 cms. from the centre of the
circle is 4 cms. Radius of the circle is / &t g0 & & g & 5 a0, & g W Rua

fig v & ot Y@ f owwr$ 4 W & g9 A few
2cms /2 ¥, [(3emsY 3 ¥ V3 cms / v3 @, |3 /2cms /v3j2 . |
o —

11 Length of a minute hand of a clock is 14 cms. Area swept by the minute hand in 5

minutes is:/

waﬁﬁfﬁa&ﬁq@ﬁav-m?m Y. 3.5%#%&@#%@@:
154 sq oms/ (154/3sq cms / 210 sq cms / 154/ 3 sq cms /
154 @7 &+ 154/3 & . 210 &3 Ja, 1543 = Ja,

12 \ A metallic sphere of radius 4.2 cms. is melted and recast into the shape of a cylinder
of radius 6 cms. Height of the resultant cylinder would be: /

UF 4.2 FA. B arer uifeas e H Ruer & wF 6 N B g el & R
A o AfAT frar srar € oRomae: e et i Fard e
110 cms /110 3. | 3.84 cms/ 3.84 ¥4ft. | 30 cms/30 #W. [(2.74 cms) 2.74 B,

13 A box contains 3 blue, 2 white and 4 red marbles. If a marble is drawn at random from
the box, what is the probability that it would be white./

R A 3 A, 2 A AR 4 A A B A g § | AR R # o e
1 el R F AR & el S § o 3w whe @ B wiar R §
| Cannot be determined/ iR =t far o1 wwwer | 1 [ 719 29) ~ |

_—

14 Which of the following cannot be the probability of an event? /
T & & F v e f sifiwar At @ wener

2/3 (15) / | 15% 0.7
o —

15 Mean of a grouped data calculated using direct method, assumed mean method or
step deviation method: / T& THgag 3HTH3 & Ay, YogeT @AM, Hfeqa Ay @&fT @

| Tor-_fames B & g@nr v i o

Varies slightly/ | Has huge variation/ ‘ None of these /
3T SEEd & 37 dCod BT & | S & g A

s the same
AT G
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16 | Which of the following is a Prime Number? / @5 & & 7 v 3o aear &
12 [7) -~ E |4

17 | If polynomial P(x)= x*— 3x” + 5x-3 is divided by polynomial G (x) =x*-2, the
quotient and remainder are ; / 3f% FEIE P(x)= x* = 3% + 5x-3 Ao avar @ T
G (x)=x’-2 &, ar afeyr 3#x Ay ¥
x-3, 7x-9) | x, 7x | x-3, 7x | x, 7x-9

\\“-—_-/

18 Ifin triangle ABC, if side AB=6v3, AC=12 and BC=6, then angle B equals: /
UF s ABC #, afy HST AB=6V3, AC=12 3R BC=6 ¥ o o7 B TART &
120° | 60° {'90%) | 45°

p—

19 | What are the coordinates of the point which divides the line joining (-1, 7) and (4, -3)
in the ratio 2.3 7 /
mﬁgfkﬁaﬂmm%a‘rmﬁmﬁm{-1,71311:(4,-3}*12:3éhaa:_gcrm#
o e &7

(7.4) [0.9) [(.3) [4.7)
Pt

20 | Volume of a cone with radius r and height h is : /
we@ﬁaﬁﬁWrWMht,mmm:

P e
rh? | mPh/2 < | rh/3 (mr?h/3)
E lnternat_ioqal Day of Yoga is celebrated.annually on:/
TAF a¥ HaIrE A Raw AAmr Srar & - i
21 June/ 10 December / 21 July / 21 September /
[213@ o ‘10\%:%7 21 s 21 R

D

City of lakes’ in India is: / iR # et & Wex &
Lucknow / Chandigarh / Bengaluru / Udaipur /
qqw 3TTR

qGTF P

Which of the diseases is not caused by virus? /

FiA a1 I Ry FT A g ¥ 2

(fB / aﬁf&a»“> Chickenpox/ e _| Dengue / 371 - Polio / stferay

F i
]

23

24 | How many states are there in India? / %R & Fasr 1w &2 B
26 28 [ 27 (29).—
=
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25 During Akbar’s regime, who carried out land revenue reforms: / 3&aR & THH #,
Rreat s gur R
Mann Singh / & g [(Todar Malyetet #ig-| Birbal / @R@w | Tansen / awée
26 | Which of the following is the unit of heat? / e & & w1 #r 31§ Fta W &2
(Joule)/ S ‘ Ohm/ 3\ .~ ‘ Ampere/TFdIT \ Volt / afee
27 | Who among the following is the future Buddha that is yet to come? / et # & Fis
wiww & g¢ &, e 3t saaia @ & ?
Lokes Varna Maitreya)) #37  |Laughing Buddha Chanakya / @moreg
[elvder aot difhr g8~
28 Jaundice is caused due to malfunctioning of :/
AT 1 B G @ & FROT g &7
(Liveryeax ~~ | Stomach/ 3¢ | Pancreas / i@ | Kidney / 7
29 Tsangpo river flowing through Tibet is known in India as: /
fead # ¥ @1FT a8 arelr HiIT AT H WA A ST ST &
ﬁahmpﬁ@( Wg} Ganges /3T l Sutlej / wees [ Beas / =
30 Yuri Gagarin, the first cosmonaut to reach space, was from which country?
O T, HAReT # qgOe arel wuA dale o, e dw e A
UK / Z5iges f# / | Japan / ST | China / & (Russia )&
31 What is boiling.point of water in Fahrenheit?
Hiaese § el & FaUEE #7497 67
100°F ./ | 32°F (212°F) | 0°F
T K 5
32 Kaliﬁangaﬁ, the Indus Valley site, is in: / ﬁ
Freeen, Ry o wuw, e
(’Rrajastr?a@‘uawmbujarat [sRIF Madhya Pradesh/aer mr} Uttar Pradesh/3eX w&er
33 |-Who was the founder of Banaras Hindu University? /
TARw fig rafagen & seues #lq &7
Sukumar Dey/ “Madan Mohan Malviya Dr, Rajendra Prasad/ | Motilal Nehru /
gFAR 3 A AlgA Aead 31, Tote gEE Ao JEE
5



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda47]

34 Where do you find the temple of Angkorwat?
ITREe AR FE fevg '
Thailand / ur=dfz |' Malaysia / #rerfRray- ‘@ombodia)ﬁﬁ’rﬁ:‘m } Myanmar / WJ

|
‘ 7T & & Fla gl w1 FRor @ wwar
| Volcancr"&m@m J Avalanche / BH-T@aT ‘ Tornado / sgst KEarthquakQ! FET |

Which of the following can cause a Tsunami?/ ’

36 The Bhakra Dam in India is built on: / s 3t HrEy Ty BT &

Beas River helum River @ Ghagra River
/=T @y SoreT AET /RIS Y femeRT e
E? ( Who wrote ‘Ramcharitmanas? /
| THERFHAT & i &l o
@ ulsidas)gerirer_ } Vedvyas/ dezarw | Kalidas/ #refverer | Panini/ rfowt

N :
WI The river known as Ganges of the South is: /
mﬁmmm@mmmmaz

|| Godavari/ atera® | Krishna/ 0T I@ave@a«‘rcﬂ‘r |' None of these/ z=18% & #1 H‘E.‘L[

39 | Where is the Tungbhadra Sanctuary located? /
| MP/ 7t w@or . UP / 3eax wowr ( Karnataka)f Fefies { WB / 9Rg# samrer j
T e

| Where is Nanda Devi Mountain? / =eT 4t qdq gl 27 !
ttrakhand Rajasthan/ Himachal Pradesh / | Arunachal Pradesh/
TS AT S JEOITES ge=r |

(41 Jaya Samhita is the original name of: / 517 et A AH E: — —J

Ramayana/ Bhagwat Gita -lPanchtantra/ Mahabharata
I.Lma-;

AT s7aTaE, Afar FEHRG |

AN
A 42 j { Rickets is caused due to deficiency of : /
fraet & & =T F@r M7 g B

Vitamin D/ Vitamin K/ Vitamin B12/ Vitamin A/
‘ | i@ & e & ferfaeT #r12 e ¢
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43 Who was the first woman speaker of Lok Sabha?/
ol g Y yuF Afger guafy Sl A7

Sumitra Mahajan/ | Najma Heptullah/ Cw Paratibha Patil /
g #grste < | AT gedeols AT FAR . gfae oifeer

44 With which sport is term Butterfly associated with:/
58 Td & FTaTs g HFEUd 67
Kabaddi/aas4r | Cricket/ e | Football/gearer J Swimming) SR -

45 The resolution for removal of Vice President of India should be moved in: /

AR & 39Sl & ASHET 1 T ST gl a0

1

| Lok Sabha/ w Either of the Houses/ | None of these /
AF w7 | aew Ry o wET # T P G

46 }’Vhat happens when dilute hydrochleric acid is added to iron fillings? /

o grsRiFdiE ofE & o & dl gof F srem oner §, a9 F=4 g §?
~—" Aydrogen gas and irom\ Chlorine gas and iron No reaction | Iron salt and water
W hydroxide are produced/ | takes place/ | are produced /
EEET IR | FAE e AR HI$ Flabear | AR |ee 3R
FHEANSS el 8 FISIIFEES T & AC @A & | gl wea §

TF O dre ey R #r Ao & oelia st gar & 1 swer @ wm gem

; 4 E @

(j’j A solution turns red litmus paper blue. Its Ph is likely to be:/

48 An element reacts with oxygen to give a compound with a high melting point. This
compound is also soluble in water. The element is likely to be:/

U dcd AR & @Y 9fafhar ae U 3T ues g arer ve dtffe s g g8
AfAF gl F gereelie §1 I€ dcd g
Calcium) s | Carbon/ &% | Silicon / R | Iron/ st

49 While cooking, if the bottom of the vessel is getting blackened on the outside, it
means that : /

T 10 §AY ITE Tl & doll a8 P ah F Fer 8 @7 &, g5 7S ¥ &

The food is not e fuel is not burnin The fuel is wet | The fuel is burning
cooked completely/ ~completely/ 4= | et e & completely / §ua
! @ I T G © oo QY T & quer: Sfer TET ¥
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50 Which of the following statements is not correct about the trend when going from !eﬂ
to right across the periods of the periodic table / Bt # @ =t &T Fasy e HET

RO # A’ & E¢ S E A vgy & an F wh A ¢
The elements The number of Atoms lose their

become less valence electrons | electron more
metallic in nature /| increase / sd=eYAT & easily/ 3] Hu=

delt B VP FA | TR T B | st @ s
urfeas gl & o A g B | e @ @ § | e g o @

C8)

51 Kidneys in human beings are a part of the system for: /
AT R # K B gomel F v s §
Nutrition / @or | Respiration/ @ (Excretjonyse e | Transportation/war

52 \ The gap between two neurons is called a: /

| 3 7R F d F R B R &
\/ Dendrite/g3r@e @ynaps@ﬁ?ﬁ?ﬁ foon;’ TFHTeT ‘ Impulse/sFaew

53 In a plant, the anther contains: / ©= G¥r & |EEFY grar & .
Sepals / $& & aeEga | Ovules/ iﬁaru;‘ Pistil / 9v¢ 1 (‘Pollen grains) sRrarapor
L 4

54 | In evolutioriary terms, we have more in common with:/

SR+ T ¥, gl T wAwar &

@rﬂ;@) Chimpanzee /  Spider /
boy/ T o

Relsh ]
55 Which of the following material cannot be used t= make a lens? /
ﬁm##mmmﬁvmﬁmaﬁ%mmﬁ?

L Water/ qreir ] Glass / gfrer [ Plastc  =fes (C!ay Dﬁ’@' -—

Bacterium/

S _—

1]

56 The human eyes form the image of an object at iis-

AT A3 A R ang @ viafee s § =

Corea/ & | Iris / 3w | Pupi / =2 (| Retina)/ ¥
e —

(57 | Which of the following terms does not represent eece—= cowerin a circuit? /
ﬁm##quﬁw#ﬁajgaamaﬂa?a‘??ﬂ
R (IrZ) Vi 219
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59 Which of the following is not an example of bio-mass energy source? /
frmr # @ A AAF 3o T H TR I AL &7
Wood / o2& | Gobar gas/ i< 3w [(Nuclear energyy A& 3 | Coal/ el

-~

60 Which of the following constitute a food chain? /
BT & A P TF TeI AT TA ¢

Grass, Wheatand [Grass, Goata Goat, Cow and Grass, Fish and
Mango/amH, 3§ AR n/ Elephant / &3, Goat/ ar¥, AT
HH gy AR AT g AR gl AT T |

For question nos. 61-70, complete the sentence by choosing the most appropriate option
from those given below:

61 Pleasure and pain are inseparable facets.................human existence.
in on of)' by
a—
62 Is there .......... fitness centre near your house?
an the (a) * | none of these

63 . | He has hardly read.......booK.

. | many all (the) . none of these
64 | ... of pain is real and affects one’s body. mind and spirit.
Experiencing * ¢ Expenen% - Experienced none of these
=t =

\<5 ' He drove with....... care and hence was fined by Traffic Police.
' . much Gi?tla v : all none of these
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68 The.......monkeys that escaped from the Delhi Zoo were found eating bananas in a

kﬁ;}_ﬂniﬁg/ »

fruit shop.
| many (three) | all | different
69 We are........ to go out for a picnic tomorrow.
plan ‘ plans \ think

70 The train must........ reached Delhi by now.

has | had y  (have)

‘ none of these

For question nos. 71-75, select the word spelled incorrectly.

the given sentence.

[71_ | eiischeit> [ belief | thief [ grief ]
(72 | familiar 7 | sin | hammer QMDr \
(73 | focal | vocal I@@) |local  +~ | |
\ 74 l carpenter W)' \ doctor- * | plumber |
1775 @ | crater | lava | earth * ‘

For question no. 76-80, please choose one of the 4 alternatives that can be subslitutgdfb'r

76 A person who believes in God. _
(Theist™ \ Cynic [ Atheist -~ [ none of these ".
77 Story of an individual by himself.
biography autobiographyy ~~ | history " none of these
"h-..____‘___'__,..-'

A book or paper written in hand.

edition draft J:manuscr:pb | none of these
79 A number of ships.

(fleed) - galaxy | constellation | group
80 A young Cow. e

hAvina herd Ccaf D - | none of these
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For question nos. 81-85, find the odd one out of the choices given therein. /
e HEAT 81-85 H, mwmﬁﬁﬁaﬁagﬁml

l 81 } Vindhya/ e ‘ Satpura / Faqs .[ Aravali/3 Taar @a! La@ EGEEIC] —{”

[ﬂ TGanga [ ‘ Yamuna/ THeT ‘ Brahmputra / WWW j

E— ’
‘ 83 ‘Ammeter,! AT |r Thermometer/gsfHiey [ Barometer/sisex qr'r\emperatur mﬂ

84 Mango / ¥1H apple / a9 (potato blackberry /
g pp potato ) 3imey v

—_

|85 | Aizawal / gt # | Itanagar / sewer (] Tripura / Shillong / fRrerrer
! 1 T

For question nos. 86-90, each question contains a pair of words. Find the relationship
between these two words. Then choose from the options given in which the relationship is
almost similar. / 9% H&AT 86-90 #, YedF WA H UF o IIA B A weel ¥ w@ew @eey
glea| mmﬁ#mﬁmﬁﬁﬁmmuﬁ‘umﬁﬁmﬁgﬁm

86 Copper : metal / dfar : urg

e_ngilne :car / Furniture : wood / | Pen : pencil / Pepper : spice ‘
o : #R | FeATIRTF - 9 e [CEHEICS |'

87 | Granary : wheat / 31X : MR AT 1
lake : water / wine : grapes / gallery : art/ Wﬁ/
Gt c AR : R el : war HagTed |

88 | Albania : Europe / 3reafaar : g
Sydney : Australia/ Congo : South America/ Bengaluru : India/ { Cote d’ Ivoire ~Africa /
R : amedferar  FRIAT : EfRoT SR IL'nﬂT'___ : HRE e & Al 3nfe |

89 Uranium : Nuclear power plant /
A TATY] FAT HET
| coal : washery / \ sand :sea / ‘ coal :4hermal power plan steam : furnace
Frer ; arerdy Koo FAA - TT FoK §AT * 1T @ a1

11 ' i
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| 90 Hallikar : cow / gllet : Mg
¢dachshund : do Gir : lion / goat : lamb / mule : horse /
FE : FeaT <~ | W T AT ool ; ur
' . 91 In the number series, what number should come next? 7, 10, 8, 11, 9, 12, ..... /
i &A1 HA H, FIeT FEar F4r gee 7, 10, 8, 11, 9, 12, ...
P e %
| 11 |15 , | 14 ( 10)
ST

' 92 | What comes next R, U, X, A, D, .2/
R, U, X, A, D, ...#mm T

F (c) "+~ | H |

93 ! If the 7"" day of a month is 3 days earlier than Friday, then what day will be on the 19"
| day of the month? / o _
afE v A & 747 & Yhar ¥ 3 foe wg &, o A & 19 ar e Far an gem?

!_Sunday}m“ r {Mondawﬂmﬁﬁ [Wednesday/gtm- Friday/eaR

94  IfEARN is related to RANE and BOND is related t6 NODB, in the same way TEAR is
relatedto: / ' g

-----

° s 4
ATRE ([ AERT )¢ | ARFT - [REAT i

S b e

| 95 Average age of a father and his son is 22 years. Ratio of their age is 10:1, what is the
age of the son? / :

T AT #R 3EE 97 F AET WG 22 a9 | AR WY F A 10:1 &1 qF A g
fraer &7 .

24 years/24 T§ Q years/a aﬁ)?/ |T40 years/a0 a¥ J 6 years / 6 ak

Gy i v -
:)L )' d.\l
A = /"1/;
-
> 12
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For question nos. 96-100, each question comprises of a statement and two conclusions (1
and (ll). Assuming that the statement is true, which of the conclusions follow logically from
the statement? /

Wed H&ar 96-100 #, TAH G H U FUw AN & e (1) k(1) & ugmar—‘rg‘trﬁ;wm
T, #la @ Tt A 9 F Fu F @y 3R e

96 Statement : Fya '

In a one day cricket match, a team made 200 runs, out of which 160 runs were made
by spinners. / w& Radia Brde 9 3, vF A\ & 200 W= wC, BEA F 160 @

RgeRt & T=w |
Conclusions: fasws
V 80% of team consists of spinners./ &\ # 80% fewew ¥ |
(n Opening batsmen were spinners./ SR#%® Feaarst Baaw & |

Only conclusion (1) Only conclusion either (1) nor ( Both (1) &(Il)

follows / &aer frssmd | (11) follows / llows / & &Y follow ¢ (1) 3% (1)

(1) 3mwr Faw Asmg (1) | 3R & & (1) smwer | =T & e
HTTam |

a7 Stali_ament -0 : 4
The old order changeth yielding place to new./qurt saereer & wamer W et saaeerr el
‘Conclusions: faswd =
" Change is the law of nature. / TRa&w vFia & fmA b
() Discard old ideas because they are old./qs At & =g &, Fifs ag &

t
2N },:,‘l;;cncluf.sl_ (1) | Only conclusion Il . |-Neither (1) nor (Il) Both (1) & (Il)
llows/ %as_/ ' | follows / &aw follows / & &r () follow / (1) 3 (1)
sy (1) amoan s () smer | 3R F & () smew | @ & e

98 | Statement : Fy=
Because of growth in production of Aluminium by National Aluminium Company,
India has become self-sufficient in Aluminium./ T2 3regfRfraR F70=Ar ZanrT

IRl seares # gfe & FRor, AR weARETE #F Jew R & ¥ |
Conclusions: frss — |

y Previously India had to import Aluminum. |/ ggd sIRe & egfafE @
S AT AT IZaT &7 |
() At this rate, India may start exporting Auminium./ 38 & W, H¥RT '

- HRATH F1 e o X w2
| <’On!y conclusion (1)) Only conclusion (Il) Nemer 1) nor (1 Both (1) & (Il)
' llows/ ¥ae follows / ¥ae foloms 7 & () follow / (1) 3R (1)

oy (1) 3moan s (1) 3moer FEE ) wm aF & o
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99 Statement : FUT
All mangoes are golden in colour. No golden coloured things are cheap./
w3 FoTEX T & €1 1S o Ged L7 A awg WE AT @t § |
Conclusions: s
(1 All mangoes are cheap. / @3t 317 ¥ €l
(Il Golden coloured mangoes are not cheap. / HaeX 1 & A FFT e & |
my conclusion Only conclusion (Il) | Neither (1) nor (II) Both (1) & (II)
- follows / Fae follows / & @ (1) follow / (1) 3 (1)
| e (1) 3meaw faseR (1) 3moem A & & (1) mwer | @ & 3meer
100 | Statement: HyA

Jade plant has thick leaves and it requires little water. /

aT & ol & gfcqar A O & 3R 5§ F7 g & EEHar e |
Conclusions: @rssd

All plants with thick leaves require little water. /
e Ay qfcadl arer diel @t FF o fr HraegEar g ¢ |

()

Jade plant may grow in places where water is not in abundance. /

IE F g 37 T 9 39T GFHar § @ 9 B 30Far FA g #

(1

Only conclusion (I) | Only conclusion (II)('ﬁéither (1) nor (I1) Both () &
follows/ &ael follows / sae lows / & dr follow =5
fasry (1) 3moan sy (1) 3o IRFE M) 3T TE

s
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